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PRIME FACTORS, HCF AmM LM | EXERCISE

Exuu:& A

Wrikte Ehe -G,Hawinj humbers as a Produc% of ther

]or:'me. 'Fat.éofs :

[ 20 ¢. 19
2. \ € 7. q0
3. 30 2. 24
4. 32 Q. 10
<. 100 0, (10

E rercise R

Find the HCF and the LCM of the following pairs

o-@ hum£u$:

. 18 and 24
2, SO andt IS
3. 30 and 4§
4. 36 and Sy
<. 28 ad 472
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PriME FACTokS HCF And LEM | EXERCISE
Exerco5< A
2.0 2|20
2|10 20 5 2 x 2 x§
s| S 2
| of 206 = 2 x§

18 z‘__n;
I a9 I8 = 2 % Txe3
3 3 2
| sr 1% = 2 x 3
30 2(3e
3(Vs 36 = 2 x3 x§
SLS
|
KA 2132
2le
2l 8 32 T 2xTLx 2 x2x
2| 4 s
22 or 32 = 2
\
160 2|l00
2| €0 o6 = 2 x2 x § »x§
sipL28 2 2
sl € ot 100 = 2L x§
|
14 3a4
3133 94 = I x 3 x il
[ 5
l or 99 = 3 xrIl
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PRIME FAcToRS , HCF And LEm | EXERCISE
) 2|40
3/ 4§ 90 = 2 x T x3Ix S
31§ 2
sl & of 90 = 2 x 3 x§
|
R4 2| g4 |
214.2 84 = 2w 2 x 3 x7
3 (2] 2
7107 of 84 = 2" x 3 x77
I
7o 2|70
§ 7o = 2x§ x]
=
o 2| ho
s[s¢ 10 = 2 x5 x|
1
I
Excrﬁ.c(g
1€ and 24 218 2|24
3 Ak
I3 2| 6
I 33
I

HeFr = 2x3 =6

Lerm = 2x3x 3 x2x22 = 72




PRIME FACTOKS HcF AND LM EXERCISE
A’ltefha."w& me thod -é'of Lem
| 8 3¢ S 4 @ 90
Lem = 12
24 428 @ 96
$O and 1§ 2|so 3178
Slzs 5|28
LS sLsS
l |
o = 2 x@x@
HeF =Cx§ =2¢
97 = 2 A@%@
LeMm = 2 §eSn3 = IS0
AMiernative methed for LeM
So 100 200
LeHt =150
7
30 and 4S5 2|30 3las
IS 3s
SLS - S S
( |
30 = A x@*@
HeF = 3x$ = 1§
45 = 3 x@*@
Lem = 2x3IxExY =90
Alternative method £or Lem
30 6o 120
Lkem = 90
45




®

PrRiME FAcToRS, HCF AN LeM | ErEACISE
4| 36 a~d T4 2|36 2| S+
2[1¢ 3122
39 319
332 2.3
I l
36 = @x 2 x@ @ ‘
HerF =2 2x3x3 = I8
$4 = @x@x®a¢3
| Lem = 22223 = |Jo¥
Mtesncbive mettost €or Lem
L 72 4 4
Lem = 108
Sa
5, 28 and 4—Z 228 Z-iz
24 32
77 1 1
l |
28 = ® 2 %
@ @ HCeF =2x7 = |4
42 = @x 3 x@
Lem =

Altacnctive method €or LeM

28 5'4.
42 (349 |

Lem = 34
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